Siegel 0 0 0O 0O O Hecke OO

godg

1 DOOO

0000 Siege 0000000000000 HeckeDOOO LOOOOOOOOOOOOOO
000000000000000LO00 Fourler 0000000 Dirichlet 0000000000
000 Hecke 00000000000 Euler 00000000000000000000000
000000000 LOOO0O000 Eule00000000000000000 Fourier 0000
0000000000000

0000000 Hecke D0OO000000D000000000000000000000000
00000000000 00000000000[R] 0000000000 Andrianoy 0000
000000 [An2] 000000000000000000000000000000000

000000000000000 Hecke 000000000000000000000000
Satake 000 LO000000000000000D0000000000000 van der Geer 00
0 (vG)DDDOOO000000000000000 LO0000000000(Nal]O [Yo]OO
0oo0o0o

2 0000 Hecke OO OO

gboooobogobooa

Jﬁ=<f _$?7 I'=TI"=S8p(n,Z) ={y € GL2n,Z) | Wy = Jn}

G = GSp(n,Q)" = {g € M2n(R) | ‘gJng = v(9)Jn, Iv(9) € Rxo} (2.1)

0000000 geGOO00 g 'I'g0 I'D commensurable 10 0000000000000

aad
[:T'Ng 'I'gl<oo, [¢g7'Tg:T'Ng 'Ig] <o

goobogn
Irood0 GO HeckeO H(IWG)=H(I''G)cOOODOOOOOOOOODOOOOOOOOO



oo cCOooooopoooo

H(I,G)={ > a;(I'gl') | gi €G, a; €C

v: 00

000000000000000000000: L(LG) = {X,0n a(lg) | g € G, a; €
C}00000000000000 C-00000000000000 I'000000000
(v, 3;ai(lg:)) = Y,a:i(l'gy) 000000000000 000000 L(L,G)' 00000

L)oo
(Z ai(F%‘)> (Z bj(F(Sj)) =Y aib;(IMid))
i i i
00000000 C-000000000

H(I,G)~L(I'G)", I'g'=|JI'g; 0000 I'gI'+> > I'y;

=1 =1
00000 (000 N[y ~T'Ng'I'g\I'00 [I'g': I <oc000)000000000
H([,G)0O0O0O0000000000

00 2.1 H(,G)0O0O000000

gbbgogbogoobogn

00 22000 ¢geGOOODOOOOOO I'gl’'00000OOO
diag(ai,...,aq,d1,...,dg) aid; =v(g), ailaiy1, agldg
000000000000 (vg)00DO0 (2.1))0
000000 [Anl, Theorem 3.28) DO OO OO
-tc %
v(g)g"' 000000000 000000000 ¥ = J,aJ,;' 0000000000000

geGOO0O0 gl =TgYI'000000VvO0000000000000000000000
oooog [

: . A B ‘D -'B
OO0 21000 GO0 involution vO g = oD ceGOOoOoogY = =

0000000000 Hecke 00O O000000 Hecke 0000000000000 00O0O
GP) =GN GL(2n,Z[1/p) 00000

H(I,G)= Q) Hy,, H,=H(,G")

p:00

00000000 ¢geG®WOOO000 v(g) 0 plO0000000000
0000D000H,000000000000000000000000000000000

2



oo 2.3

o) -1 (g ). me=r| T L ro<i<n)

goooobogn

goobogn

(cf. [Anl, Theorem 3.40])

00000 Hecke 000000000 DODOOO0OODOOOOOODODOOOODODOOODO Satake
oo0oooboooobooboboobooooo

3 00O Hecke OO Satake O O
NOoO0O0O0O0O0O0O0OO0
Gp = GSp(n,Qp), K,=G,N GL(2n,Z,)

2 —{er _)C‘ 9000 Ky-O0O ie. ¢(kighs) = ¢(g), Vk1, k2 € K, }
P 4

00000000000 OOODOO

H, 00 convolution

o1 % ba(h) = / 61(9)da(g™ " h)dg
Gp
gooooocC OO oooooogo

00 3.1
H,=H(I,G?®)~H, I'gl+ ch(K,gK,)

o0 cC-oopooopoooogo

00 H,00000000000000000 GSpO000000000000

T = {diag(u1,...,ug,v1,...,0q) | U101 = Ugva = - - = ugvgy} C GSp
A 1
B
N = <O VtA1>eGSp‘A: .

1

0000 P=TN 0O GSp O minimal parabolic subgroup 0000000
GSpOOOUODOOOO000O T O Hecke O

H,(T) = {¢: T(Q,) - C |00 T(Z,)-00000000000000 }

3



O00ooooooooooooToO GLon+10OOOOOODOODOOOOO
H,(T) = C[XE, XE, ... X3

gbboobogoobogn

xomar(ren (5 9 Y1)

X, =ch <T(Zp) <% 591) T(Zp)> S, =diag(1,...,1,p,1,...,1)

ooooO
TO GSpOO0O0O0O00O00O0NT)={geGSp|g'TgcT}OOOOOODODO GSpO
WeylD W =N(T)/T000000 7000000

o0 3.2000 W:GnM(Z/QZ)nDDDDDDDDD G6,0n00000000T >t =
diag(u1, ..., Up,v1,...,0,) 0000 nO00 {(u,v1), (u2,v2),...,(un,v,)} 00000000
oooon (Z/QZ)”BEZ'(DZ'DDDD 1000 ODDDD)D w;, 0o, 00000000000
ooad

WOTO0O0D0ODO000000 T0O HeckeD H,(T)0000000000000 Hy(T) =
ClXF, XiE,...,. X 00 W=6,x(2/22)"000006,0 Xi,...,X, 0000000000
(Z)2Z)" 3¢, 0000

XU!—>X0X1‘

X, — X!

Xj— X; (G#1)
0000000000000H,(T)0 W-0000000 H,(T)W 0000
H,00 H,(T) 00 C-000000 (Satake 00 ) 000000000

S: Hy = Hy(T),  S(f)(g) = ()2 /N f(tn) dn
000 §(t)0 modulus 00000 00n=Lie(N)0DDOOODO
5(t) = | det(Ady (1)],
0000000oooooo t:diag(ul,...,ug,uoufl,...,ugugl) oooo
6(8) = ug " P udug

.,U’TL

goog

00 8.3 Satake 000 C-00000
H, ~H,(T)V =C[XF, X, ..., XV

coooooo



0000 [Sa]000000000000000p0000O00O00OOOO Bruhat-TitsO OO
0000000000000 D000000000000D0O00 [CdJD0DO0DDDODDUODOO

000000 #,000000000000000O00O0000O00O000O00O000A0
MeG, 0000000000 KMKO

pTil 0

A; B;
KMK = [[ MiK, Mi:(o pl%_1>, A; =

* prin

gooooobogoo pl:V(M)DiDDDDDDDDDD

00 3.4 00000000000 MOOOO
ch(KME) — X [ X;)"
i j=1

0000000000%H,00 CXE, X5 .. XA oo cooooooooooo

0 0000 33000 34000000000 XoO pOOOOODOOODOOODOOODOOO
O 3300000000

S(ch(KMEK)) = p™mE/AXEN " T (p7 X ;)"
i =1

000 (cf. [AS,Lemma 1)00000000000D000O0O0ODO0ODOOODOOODOOO 340
goooobood

4 Siege0DOO0O0O LODO

H,={ZeM,(C)|Z=2 Im(Z)>0(000)}0 Siegel 00000000 GSp(n,R)™ O
H, O
-1 A B
9(Z)=(AZ+B)(CZ+ D) " €H, g:<c D>€G

000000ge GSp(n,R)* 00 keZO H, 0000 fO0000
fleg(Z) = v(g)™* "D/ det(CZ + D) " f(g(2)) (4.1)

googo

00 4.1 H,0OOOODO fOI'=8p(n,Z) 000000 k0O Siegel 0D ODODDOODDOODOO
gobgoboogooogon



(1) 000 yeI'0000 flyy=f000000
(2) n=10000f0 cusp000D0000O0 Fourier 00O

f2) = 3 al)m:
v=0
godad

n>200000 (2)0000000000000000O00DO0UDOUOU0OO0 (Koecher U 0O)O

0000 f0O Fourier 00O
f(2)= > CA)em Az (4.2)

Sx3A>0

0000000 S;00000000000000000000000000000000000
O00000DA>00 ADDODOOOOOOOOOOODOOO fOOO

(3) det(Im(2))*/2f(2)| 00D

000000 fOcusp00000000000 KDDD000000000 My(I)OcuspO0O0
00000 S(INoooo

Siegel 00000000 Hecke 00D 0OUDOUOOOOOUOOOHI,G)>I'g'00OO0O0ODOO

ooo Iyl =y,_,Iv»0oooo

FIslPgl) =" flivi
=1
00000000000H,G)O M(I)000 S(00000000000000

0 [Gul)]00000Siegel 000000000000 DO0000000O0O0DODODODDO A=Aqg
0QOOoOOooooouooooooo

GSp(n, A) = GSp(n, Q) GSp(n,R)* [ GSp(n, Z,)
p

00000 (00O00D0)D0DD0D000000 g=79k000000f € M(I'YODOOO
GSp(n,A) 0000 ¢f 0

pr(g) = det(Ci+ D) ™" f(goo(iln)),  goo = <é g)

0000000000000 Siegel0D0O00O0DDOOO GSp(n,A)DODOOOOODOOOO
0000000000 0000000000geG, 0000

flellgI] = @5 * ch(K,gKp)



000000000 %0 convolution 000, GSp(n, A) D0DO0O00OO ,y 0000

o*P(g) = /G )l
goooo

Se(I') 00O Petersson 00 (, 00000000000 Z=X+4&Y €H, 000 H,00O

0 d*Z 0
d*7 = det Y~ 0tVgxdy

00000000 dX00dY D000 Lebesgue000D00000O0OO d*Z0 Sp(n,R)000
0000000000000 00O00O00O00O0ooOOoOf,gesSy(H)ODOODO

(f,g>=/F\H F(2)g(Z) det(Y)*d*Z

O000S,(INHOODDO0O0O0O0OOcusp000000O0DDOODOOOOOOOOOOODOOOO

00 I'el' € H(G)OOOO
<f|kFOéF,g> = <f7g|kFaF>

00D000D0H(G) 000000000008, 0 H(G)D00O0O00000000000
feS(IN) D Hecke D0DDDOO0D000O0D00000 XeH(G)DOODO fIX =\X)f
0000000000 34000000 p0000

Ap: Hy =C[XF, XTE,..., X5W - C

0000000000CIXE, X5, ..., XF 0 CIXE, X, ..., X)W O integral 000000 )y
0 ClXE, XE,..., X ] -CO000000: 0000 A O Xo,X3,...,X, 000000000
0000000 C-0000000 H,-CO000000

(©) 1w
gbooooooboobooboon

00 4.2 fO00000000D0O0DO0O0ODOO0O POOODOODOODOODOODO (R+1)
goooooo

{aposap1,- s apn}
O fO Satake OO OOOOOGOOO

Siegel 0000 LODODOOOOO Satake 0000 0000000000000 0OODOO0OO
0000000000Satake 0000000 Hecke 0ODOODODOO0O0OO0DOO0O0OOOODOOODO
00000000 LO0O0OO0000000000000000000 WeylOODODOODOOOO
gbooboobogoboobbuoobbooboooobuoobbooboooboooboobo
oono



00 4.3 (1) f0000000000 {ap0,p1,---,0p,} 0 Satake 000000000000
00200000 LOODO

L (ft) = (1=t [T = apit) " (1= api )™
=1
oo

spln(f t) 1 - Ozpjot)_l H H (1 — Qp,0Qp,iy " ap7i7‘t)_1

r=11<i;<-<i,<n

00000
(2) 000000 fOseCOOODO

st f7 H L fa
spln f7 H Lspm

0000000000 Re(s)>0000000000000 sO00D0OO0DODODOOO

L (f,s) O standard L 00 O Lgpin(f,s) O spinor LODO DO OO

0 spinor LOOOODOO Euler 0000000000000000 Lepin(t) O Lepin(f,t) O
;0 X; 000000 CIXg,...,.X V[t ~H,[t] 00 (0D0)DOOOT(PY) 0 {g€G,n
Mo, (Z,) | v(g) €p*} 0000000000 H, 0000000000 H, 0000000000

=>_T("
k=0
0oo0ooooo2r—-20000 Pn(t)DDDD
Hio(t) = Pa(t) Lipin(p~ " 1/21)
000000000 DO00D00o00ooOoobOOo0nDn spinor LOOOODOO

0 LODOODODO Sp, 0000 (00O [Yo]OO, 0000 connected L-group 0000 00
0)0000000000GSp, 00000 GSpin(2n+1,C) = (C* x Spin(2n+1,C))/Z, (Z
00Spin(2n+1,C) 000000 2000 «000000 (—~1,e¢)0000000)000000
00 Spin, 000000000

1 — {£1} — Spin,, — SO,, — 1

goboobooobooon



standard L OO0 Spin,,; 00 80,1 0000000000000 80,41 O standard O O
000000O0Ospinor LOOOOspin 0000000 S0, 00000000000000
000000000000 2rn+1000 2" 000000000 LOOOOO0OOOO0O0O000O
ooooO

LO000000000DOOoO0bOoO00oDOooboooooooooog

00 4.1 (Bbcheler [Bd)) fe M,(I™) 00000000000 000000 100000
0000000000

D(s+k—j)Lg(f,s)
1

A(f,s) = (2m) "~ */2T <3—;-5>

n

J

00 s-000oooooooooooon
A(f,S)IA(f,fS)

googn

00 4.2 fe Mp(I™)DO0D0D00000000 Lein(f,s) 00 s-000000000DOO

oo
nk_n(n—l—l)

5 +1—s

goboooboogoooooog

00000 n=20000 Andrianov ([Anl)) 0000000000000000

00 4.3 (Andrianov)
U(f,s) = T(s)I(s — k + 2)(2m) 7> Lepin(f, 5)
00000000 ¥(f,s) 00000000000000000000000D0000000
U(f, 2k —2—s)=(—1)"V(f,s)
ooooo

n=3000 Asgari-Schmidt 0000 Ly, 00000000000000 ([AS]))O

5 00

goodoboobooboooo0obo0oboUb0 LOoobooboUoooooDODbDOobOobDboobooo
0000000000000r000000M = pls, = diag(p,...,p) € GOO0O0O00O0
Satake 00 (3.4) 0000

ch(I'MI)y =p(+D/2x2x, ... X,

9



00000000 (41)00 MO fe M(ID)O fi]M =p 0D fo0o0o0000ond
0000 f0O Satake 000000 {ag,...,a,} 000000

043041 - pnk—n(n—l—l)/Q (51)

gobogo

5.1 00OO0O0DOOOOODO

p

1 0\, ~(p O 10 p b
o Y- -G a1 G )
0<b<p—1
00000000000 340000 Xo+XoX; € C[X5, X5 0oooooooooooo

feM(NDDOODODDO0OOOOOOT(p)f =A,f 00 0Satake prameter O {ag, a1} 00
0O0O0(5.1)00000

1 0
n=10000 I'=SL(2,Z) 00000000000 T,0000 F( )FDDDDDDD

2 k—1
ap +apar = Ay, agag =p

good

Lspin(f7 S) = H(l - O‘Opis)il(l - a0a1p78>71

p

=TI )
p

O0000Ospinor LOOODODOODOO LOO L(f,s) 0000000000000 Sping = SLe
0000000 GSpin(3,C) = GL(2,C)00 0 spinor 0 00 GL(2,C) 0 standard 0 00000
goo

00 standard LOOOOOO0O

La(fos) = [JA=p ) 0 —ap™) (1= ay'p~) !

000001 =M\t +p" 142 = (1 - apt)(1 — apast) 000

of :pk_1a1_17 oo - (@) = pF, (apan)? =pFtay
oooogog

La(fis—k+1)=[[(1—adp™) ' (1 = afeap™) " (1 — agaip™) ™"
p

= L(f,s,Sym?) =

e o]

10



oogogo (DDDDDDDDDDDDD [IS]DDDDDDDD)DDDDD standard L OO 0O 2
0000 LOODODODDOaccidental 0 00O

Spin(3,C) = SL(2,C) 2% S0(3,C) — GL(3,C)
000000000 (Na2]O00: 0000 SL2,R) 2% §0(2,1)0000000 COO00OO0O
DDDDDDDDDDDDD)DDDD SL,O0200000000000000O00DOO0ODODO L
000 standard LOOOOO0OO0OODOOODODOOOO
5.2 Eisenstein O O

0000000 Siegel Eisenstein O O

EMNZ) = > det(CZ + D)~*
00000000 k0 k>n+20000000000

== {(¢ 8)er)

WAK)ELz)= > (cz+d)7F

(¢,d)€Z2~.(0,0)

O000rn=100000

000D000000D00000000000EXMZ) e Mp(I™)000000 EP(Z) 0 Hecke O
000000000000000 (000 Zharkovskaya 00O O00000)0

00 5.1 Siegel Eisensetein 00 E O Satake 0000000
=1, o =p" " (1<i<n)
goooooooon

00n=100000E,07,00000000 1+p*'000000000000000
0n000000000000Zharkovskaya 000 0000000000000000000
Siegel 00000000000 00000000000

00 5.1 fe Mp(I™)OOO0O ®(f) € Mp(I' 1) O

o =tm 7 ((5 ) =t

oobogon

11



f0 Fourler 0000 (42)0000000000000000 &(f)O
_ a 0 271
sne= X (5 p))e
S*_,3a>0
O Fouwrier 00000000 OOODODOO
a7 = 1y

000 (cf [Gu2, §3.3]).

00 5.2 (Zharkovskaya OO O O) C-0000 +: Hy(I'™) — H,(I™ 1) O
(X0, X1, o, Xno1, X)) — (" 7" X0, X1y, X1, 0™ F)
000000000 feM,(I'™OTe€H,(M)O000
O(fxT) = (f)x(T)
googga

000000 [An2, Theorem 4.19]0
000 n=20000Zharkovskaya 0 OO 0O0O0O Satake OO OO OO0

k—2 k—1 2—k
g =D , Q1 =0Dp , Qo =0p

00000000 0O00O0O0ODb 320000 WaoeOOOODOOOOO

k—1 k—2
Qo = ]-a ap =p ) Q2 =D

gboooobogoog
00 510000

n

Lo (Ef,s) = () [ [ ¢(s = k+)C(s + k=)

i=1

goobogo

goon

[Anl] A.N. Andrianov “Euler prodcts associated with Siegel modular forms of degree two”,
Russ. Math. Surveys 29, 3, 45-116 (1974).

[An2] A.N. Andrianov “Indroduction to Siegel modura forms and Dirichlet series”, Universi-
text. Springer, New York (2009).

[AS] M. Asgari and R. Schmidt, “Siegel modular forms and representations”. Manuscripta
Math. 104, no. 2, 173-200 (2001).

12



[BO]

[Nal]

[Na2]
[Sal

[Yo]

S. Bocherer “Uber die Funktionalgelichung automprpher L-Funktionen zur Siegelschen
Modulgruppe”. J. reine angew. Math. 362, 146-168 (1985).

P. Cartier, “Representations of p-adic groups: a survey. Automorphic forms, represen-
tations and L-functions”, Part 1, pp. 111-155, Proc. Sympos. Pure Math., 33, Amer.
Math. Soc., Providence, R.I. (1979).

E. Freitag, “Siegelsche Modulfunktionen”, Grundl. Math. Wiss. 254. Springer-Verlag,
Berlin.

G. van der Geer, “Siegel modular forms and their applications.” The 1-2-3 of modular
forms, 181-245, Universitext, Springer, Berlin, (2008)

oooo, “GL,0oooogooo”, 0000

0000, “Siegel Eisensetein 0 00 Fourier 00”7, 0000
000,0000000000000 LOOO,01600000000000000 LO
0oooo (2009), p3-36.

ooo0O,000 LOOOOO0O,0 1600000000000O0O00LODODOOOO
(2009), p137-169.

0004, “Accidental 00O 0O0O0O”, 0000

1. Satake, “Theory of spherical functions on reductive groups over p-adic fields”, Publ.
Math. I.H.E.S. 18, 5-69 (1963).

0000, “Functoriality Principle”, OO OO

13



